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Options:

54025012001. 1
54025012002. 2
54025012003. 3

54025012004. 4



Question Number : 117 Question Id : 5402503002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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OACY LBHVIEDEONED, UZELHIE EYHRA 02 LZE DHYNI3DE ¢9 UdEeZ G2 VAR
U2EZROMNE LAED| 02020 EZENZ LODE GALY WACNZU QPAGR| 20202826 L2E
OH3DG| UAS S74E €2 OPRG 2067L 02 W'G W2ZL ALJED| ATN0 020 FAUPHP €2 02Z¢
Wa LD GZ GAEB DHLS SNIAZRUG LZEODEY | bOAL UA® AE €2 bHPA 02 WG bLHPA
bZ2ZEI- ARD. 0D LOLNA €2 DD 07ED.C AL GUE WIENG 0DUD? ARY. O KLLOOPIP
€9 hBWLZ0- NOBLZ0 2 DIDDI LbAED, A4 €2 EAO 22 EAO0 0 ——— AL bIOHHE 2D €2
b?0OHY G2 VS 2D2LIE LAE0NEY | 2EWDE® DIZ b2eY- AGY., EAC €D DINE 2 62
ODWZ'EAQ UZ2E DIE GLAED| 822 2U UZE b29D), 23AE D2 62U 0IWZ'EY, DHUPHP 236
DLODLDY 22ED | 22D WY OIYDR bLPA 2DIZEL2ERD D2 23DE D2 0IWZE 22 LDLDE
24 d2e D23 b2 DAUPHP €2 bAL:'E W22 0BG 0DWIHLAED | DLUA-DIREY €2 TdE
OAGHD) GZ 02WZ bIHE0DRE), WA ¢2 P20 DZ 0LRLE WAA bd OAWZLAED | b23L W2TIE
29 20090 kHoOPIP G2, D2@Y bLZA WITIE LD ODWZLIEN| D02 h2PY DZE DD WD W23
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0DWZHOAEONED | WOTIE0Z0 LALSBYL HLTO.D YEA €9 LAEHU AL OHIRLD 0NWZLAE0DRAI
YEZ 22 BLAP WD LD bA0Z PA.ND VZEWVZ U2E DI bAE 0DW2HLIEZAR| DEY 76.02
LbbH-gbb, D2E2L, 02098 LAWY bA0Z2 WD YEA ¢2@ THAWAY 20D b2e2@2 | ELED.G
WA.0AD P2 PLUA PIRED WY LIEHU LANHD 80D b2e 0AEIE, 2E WD W2T2E 020 99
DA 2. 2 UL 202 b2e2R | 0A.2. DL b2¢ 0G2U OAD UDWEY. bOGHE G2 LhLOPAP
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‘W81 W WM ST T
'LANOD)’ D2EVE U2 Db bALY)?
(1) GEAHTR Lb20D2026

(2) fEf= vANZAQ
(3) EfE HLODAQ
(4) SIrmE P2EHY

Options:

54025012005. 1
54025012006. 2
54025012007. 3

54025012008. 4



Question Number : 118 Question Id : 5402503003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp3
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Options:

540250120009. 1
54025012010. 2
54025012011. 3

54025012012. 4

Sub-Section Number : 4



Sub-Section Id : 540250184
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 119 Question Id : 5402503004 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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AT 0D

B. U 02
C. o P2
D. % bd

AR 1 T S fower®] @M ared GeEe don aee |
PA0AD D2 20 A6A0 A76PTALY bOE 1D.307 LHKARAE 02P KNS U2

(1)A

(2)8

B)C

(4)D

Options:
54025012013. 1
54025012014. 2

54025012015. 3
54025012016. 4



Question Number : 120 Question Id : 5402503005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

AR o ... T AR GE T W FH AE [ A
2022 19).... 420 $22ENSN 1 bHAD DAREH 12020 bA0ZE ARA0 THDAY (2]
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(1)A
(2)8
B)C

(4)0

Options:
54025012017. 1
54025012018. 2
54025012019. 3
54025012020. 4

Question Number : 121 Question Id : 5402503006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1)A
(2)B
3)C

(4)D
Options:

54025012021. 1
54025012022. 2
54025012023. 3

54025012024. 4

Question Number : 122 Question Id : 5402503007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:
54025012025. 1
54025012026. 2
54025012027. 3

54025012028. 4

Question Number : 123 Question Id : 5402503008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1)A
(2)B
3)C

(4)D

Options:
54025012029. 1
54025012030. 2
54025012031. 3
54025012032. 4

Question Number : 124 Question Id : 5402503009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




f1eq 3@ T ... F @R AT W FH AT [ A
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(1) A
()8
3)C

(4D
Options:

54025012033. 1
54025012034. 2
54025012035. 3
54025012036. 4

Question Number : 125 Question Id : 5402503010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) A
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Options:
54025012037. 1
54025012038. 2
54025012039. 3

54025012040. 4

Question Number : 126 Question Id : 5402503011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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A, bea

B. s 26
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(1) E ABCD
2) ACDEB
3) C,A,B,ED,
4) ACB,D,E,
Options:

54025012041. 1
54025012042. 2
54025012043. 3

54025012044. 4

Question Number : 127 Question Id : 5402503012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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3) ACB,ED
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Options:

54025012045. 1
54025012046. 2
54025012047.3
54025012048. 4

Question Number : 128 Question Id : 5402503013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) ABCED
2) A,C,D,E,B
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(4 ED,CB,A
Options:

54025012049. 1
54025012050. 2
54025012051. 3

54025012052. 4

Question Number : 129 Question Id : 5402503014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

54025012053. 1
54025012054. 2
54025012055. 3
54025012056. 4

Question Number : 130 Question Id : 5402503015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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20 2690 bA0GD b2LAEG b2 LAVDY bAOZEUATIVLAE DEA0 V2L U2
A B

B. 70
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(1) CAEB,D
(2) B,C,D,E A
3) ECD,AB
(4) AB,C,DE
Options:

54025012057. 1
54025012058. 2
54025012059. 3
54025012060. 4

Question Number : 131 Question Id : 5402503016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) ACB,ED
2) C,D,B,AE
3) D,ACEB
4 D,C,EAB
Options:

54025012061. 1
54025012062. 2
54025012063. 3

54025012064. 4

Question Number : 132 Question Id : 5402503017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) CABED
2) B,D,C,AE
3) ADCEB
4 ECDAB
Options:

54025012065. 1
54025012066. 2
54025012067. 3
54025012068. 4

Question Number : 133 Question Id : 5402503018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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ODWDD €9 202 2HOZ b KL2D2GY)?
(1) e 0DV

(2) TRETI K2R
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(4) FRE bANDU

Options:

54025012069. 1
54025012070. 2
54025012071. 3

54025012072. 4

Question Number : 134 Question Id : 5402503019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

QTR . 3R] 9TER ST FHEI?
‘029G DZ2RIEG HPhY) Lo vde 2bD) bIAED?
(1) TEE WUDP

(2) TErA DYVDP
(3) BT WIRDS
(4) HFRT EDEWD)
Options:

54025012073. 1
54025012074. 2
54025012075. 3
54025012076. 4



Question Number : 135 Question Id : 5402503020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

‘1 fefte se™’ @ 9 wq FEI1

'02082 0ATAP ODINE’ D2EVE (OV'Z 820 bA'D?
(1) = 3R bA0OD Db
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Options:

54025012077. 1

54025012078. 2

54025012079. 3

54025012080. 4

Question Number : 136 Question Id : 5402503021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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(1) THT W2DU2E
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(3) T 626
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Options:

54025012081. 1
54025012082. 2
54025012083. 3
54025012084. 4

Question Number : 137 Question Id : 5402503022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

KC e R B ot e B G et
PROE Ul G2)' MO20D bV0SY D26NE UNL2 828 bALY?
(1) I TE 290 D262H
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Options:

54025012085. 1

54025012086. 2

54025012087. 3

54025012088. 4



Question Number : 138 Question Id : 5402503023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T el @ G AW’ FGH OTE WH W FE7
'GA0D-CA0D 02 LhHE 0902’ bH$HU D2EAE UNTZ 829 bACH?
(1) faver g PACOD DALY

(2) T e0'an Wabd
(3) T TH 0LO WALD
(4) U TR 286 (DL

Options:

54025012089. 1
54025012090. 2
54025012091. 3

54025012092. 4

Question Number : 139 Question Id : 5402503024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




R farlE e TRga S FEI7
LODDED DATV2DEIR DZ2EAE TY.2090 2bd) bIALD?
(1) TrEh-SEhWANAL-0A DAL

(2)  UREA-TERAO2DREA-TGNAE A
(3) FEE-TWUREOLNONB-bONNNS
(4) STEI-EEI289-WD8Y

Options:

54025012093. 1
54025012094. 2
54025012095. 3
54025012096. 4

Question Number : 140 Question Id : 5402503025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

SH R, I HER SAHT FET?
HEHU D2EVE HPHY). LHDDLS bALH?
(1) <G 2.09

(2) FEAd OHW2ZP

(3) TIT DLDLY

(4) =Y 8HT2

Options:

54025012097. 1

54025012098. 2

54025012099. 3

54025012100. 4



Question Number : 141 Question Id : 5402503026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T, [ g g&@ - 11 f7aR Hi
¥H07 1 KDY KH87 MUAPD.Y U2

el =
¥907 1 ¥507 1
AFH FTFEL2DDU bADDL [3THDE
B. TRy FRELDUODLS bDDDDL ILu2
C. MEH FFEIBASDL bAY s 02
D30 FHEH02DE bADDb IV @Mb&2e

AR 1 T e fowey @M GEds dol arse H|

PA0AD D2 2U DbA0 LALPTD bOIE LHWARDE 02PY 1AIONY U2
(1) A-II B-I, C-IV, D-II

(2) A-L B-III, C-1V, D-1I

(3) A-II, B-1V, C-II, D-1

(4)  A-IV, B-II, C-I, D-1II

Options:

54025012101. 1

54025012102. 2

54025012103. 3

54025012104. 4

Question Number : 142 Question Id : 5402503027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T, 1w g -1 e A
€907 T L9 k907 TUAPDY U2

it 1 T

L9071 L9071
A. & aEHOAP OALOD [ 7 AT HEE WDASD6 CADNRIL U202P
B. #0987 L AEvE WIS eRon2LIn) (2R 07
C. THD.LLD. ML TETW g DHBCADNRIT hooh
D.7m6ad V. fers 38 e2062'eh hadh

TR 1 T N e g s da a8 W

PA0TD DZ 2U AbA0 Y7bPT2 bHAT LHWAGAE 02PY 1ALHY U2|
(1) A-ILB-I C-IV, D-III

(2) A-L B-lIL C-I1, D-IV

(3) AL B-IV,C-[, D-Il

(4)  A-IV, B-IL CHII0L D-I

Options:

54025012105. 1

54025012106. 2

54025012107. 3

54025012108. 4

Question Number : 143 Question Id : 5402503028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




. [ g g6l -1 feE W
K987 1 LAY K907 TUA0DY (2

Gl ||
€987 1 £987 1
AT ZZHB0b hHdy [ TEMEUN3eeaNI
B.ag 950 LOOSAZA0O DL I TERN0992$DNS
C. fomer FIeAGoU02D WALeD I W THiea0ud 63'edn
DT TROIUDE LAWYy V. @ TEEILOOD PANAG

e el o CeTe e i o G )l

PO D2 20 ALA0 YALPTD bOYE LHKARAE 02PA (HALSVY U2 |
(1)  A-IV, B-II, C-III, D-I

(2) A-L B-I C-II, D-IV

(3) A-II B-I, C-IV, D-1I

(4)  A-ILB-IV, C-I, D-III

Options:

54025012109. 1

54025012110. 2

54025012111.3

54025012112. 4

Question Number : 144 Question Id : 5402503029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T, 1 goms ga -1 e |
9087 1 LY kH07 NUAPD.Y (2

gt 1 gt 1

987 1 £987 1
A.F%T AEEEDL02 PAPY.RDE L T TEE20RY (22
B.gR AEAEUNONE P2.PY.GE | U A A A VAL
C.TE[ AATRWAP0 PALIRVE . afeg s 02.370 B
DT @@MEHGHE PAPD.RIE IV. ¥R guaR209087

TR T T N fosed @F Ges qal a@e

PA0AD D2 20 AbA0 7AOPTD bOZEL LHOARAE 02PA HDLSY U2]
(1)  A-IIL B-II, C-1, D-IV

(2) A-IL B-III, C-1V, D-I

(3) A-1V,B-L, C-II, D-1II

(4) A-IL B-IV, C-[, D-III

Options:

54025012113. 1
54025012114. 2
54025012115. 3
54025012116. 4

Question Number : 145 Question Id : 5402503030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Tl 1w ga -~ 11 s
K987 1 L9'Y kHO7 UAPDY ¢2

il | el 11
987 1 987 I
A. TFTE UET U9EEN3 UANOA L FEA b2.WOA
B. @1 @ 0ovdLD. 207D . 9 2e9p
C. %59 bbb M. sFEE 922302
D. fofan «d 922692 0922 IV. @dE bezZpad

AR 1 T R fased @F gEEe ddl dee

P20 D2 2U NOA0 ALPT bOIL LHWARAE 02D IANBSNY (2|
(1)  A-IL B-IV, C-III, D-I

(2) A-l B-II, C-IV, D-III

(3) A-II B-L C-II, D-IV

(4) A-1V, B-III, C-1, D-1II

Options:

54025012117.1
54025012118. 2
54025012119. 3

54025012120. 4

Question Number : 146 Question Id : 5402503031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




'YALONIA TADLA HEHIU' b2 KL2DUD 8ONDY £L292D DbILH?
(1) 2005 ¥ T 200¢ LA D2

(2) 2007 W& T 2002 LAP D2
(3) 2009 HE ¥ 006 LAP D2
(4) 2011 HE T SO KD D2

Options:

54025012121.1
54025012122. 2
54025012123. 3

54025012124. 4

Question Number : 147 Question Id : 5402503032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T SRS ST F] AT A

‘0’ D2RVE H8DY.Y PIRED b LALY?
(1) % 0Y

(2) o PbhA

(3) TR 0IND

(4) Y A b2h2H 02.DY

Options:

54025012125.1
54025012126. 2
54025012127.3

54025012128. 4



Question Number : 148 Question Id : 5402503033 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TER S 9 9@ & SSE T S F?
OZE2)D PED) VDD PZLbH) DZRIGEG HLDIEHLU?

(1) <TEPAR
(2) TEAEC
(3) sADO2E
(4) fa=p7AQ

Options :

54025012129. 1
54025012130. 2
54025012131. 3
54025012132. 4

Question Number : 149 Question Id : 5402503034 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




‘Orer’ wER e A SIS SE HE?
‘AP EDODLY DZRIEC D@D DIEIE 2bD) bIED)?
(1) T&9 ULILU

(2) UEA D2KhHY)
(3) TTH koAU
(4) =E™  L2LHU
Options:

54025012133. 1
54025012134. 2
54025012135. 3
54025012136. 4

Question Number : 150 Question Id : 5402503035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

'WADU LADDLD €2 2bD) 08AL D2RVE CHEYHU bIALY?
(1) SSEER T YNIZHUNAGDNA GhHEYHU

(2) WEFAEE TH  0O2PIEPAPA.E CHehd
(3) TEEEE TH PZbOAPAPAE 69ehU

(4) THATETE TIHEYEPDPA.G GHEYHU

Options:

54025012137. 1
54025012138. 2
54025012139. 3
54025012140. 4



